. mnglstmal powers _
1) ofjin -
3) at, about

~ 1) Fashionable
3) Thought provoking 4) Downtocarth 13-

fheatiiamd aetaa, aifde

derd! ugiadtar aeidl udteny soos

Give one word for the foﬂmng ' 8.
A group honeybees.

1)Team 2)Bunch 3) Swarm 4} Group
Fillin the blank with appropriate proposition:

* He invested his savings ............. Shares The

police commissioner is mvested

2y oi: uhde‘r

4) m. Wlth

word: Tﬁg proof of the ...... is in the ea.nng

1) Caka 2 Pngldms 3)Meal 4) Dlmm
Choose the sentence with proper. pmmuen 9%
1) She said, ‘Oh God What did you dé®?

- 2) She said, “Oh God: What did you do’ ?

3) She said, ‘Oh God ! What did you do?’

4) She said, ‘Oh God; What didyoudo 7”10

Inse_rt the correct punctuation : _
What ‘s nice remark ................
nr 2. )

~ Choose the correct al!ernatwe IfI........ yo'i":. 11,
. Twould not lose temper. .
- 1) Was

“2)Were

3) Had been 4) Would be

Choose the alterﬁﬁtive which is the closest in 12.
. meaning to the underhned word.

Yoursis a Utoglg model
2) ldealstlc

- 1) Taking pify
L 2 Beaghde of pity on the mouse, the
3) The magician turned it into a cat because

4) Ifhe took pity on the mbuse, he turned it

3) WERORNT

1) wrEsEa

Combme the fol\lg\mgpm of setitence by
making use of s participlé : :
The magwun%ob plty on the mouse.

He turned it into & cat.

on the mouse, thq magician |

: mmed\j;‘into a.cat

magician turned it into acal.
he took pity on the mouse.

*"into & cat.
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2)?555111'&!5
4)““"“‘?"‘5
TENR) T YA AW | 9y A
1) TEE z)mimiw
3) aafegyi® 4) TIATENE
memwﬁ’ mmwaﬂa
2)wiuﬁ

1)ﬂﬁi‘&
3) WS 4)mim?iﬁ

1)=gﬂmiw_

S s R s S
2) Wi
 §HwEd

2) Ty g

3) Fntoft
foifera aragein
1) Rrfmaghél



14.

15.
16.

17.

ywiragd o) wwepdh -
‘Wmmm

WA Rl

i v 2)MW

3) WA I )RR
TR’ w1 I EeEE dvmrm%sﬂ
TP 2 .

niseR - 2) vl 3) R 4)amﬁ
wwiindal wivmr

'w |t weTaT

1)&&1«:2)«# HubmR 4w

18.

19.

23,

: 4)h‘tmm
*mmmw wmwﬁ:a
Wma\m .

21.

1y 2)&1"«&%3)!% 4)3&?:

“wraftavaRT” < et ffeT e,

1) gﬁ&vﬁ 2y it

4) I A, :

FrT HIvT I, A WET A WY qQr

ATFITERT TS ITHTT JEBTE ST,

1) e R 2) wﬁswiﬂw
HAINMRE QT 4) TR

mmwmmm

W Rwer,

1) vt s 2)atﬁwﬁlaﬁrma'

3) yvra fivama

%Mwaﬂmﬂww
- pyem 2)FAST

24.

25.

TER S iR A S L MNOPQ,
. aferR

) FAATETE  4) S A,
Pick out the correct word to complete the
sentence:

It is a very spacious ........... for constructmg
nursing home. . : ;
1) Cite Snght 4) Seat

2)" Site”

AR T TR i, W
FRT A, L ¥ M e et sl 3

. N o SEes feem et 9w, K

E mmmmm Qw®o

i © p O IETET AR F@ee 3, O WK

26.
27.

28

- mfra srEiws TaeT Ay

)P

1) N TR 2 WA T oW

;'-AWﬁTBmWW‘%‘H canﬁrDanvﬁ

w1 TS fa=aT vy o, J 310 1

ﬂﬂmnwﬁaﬁwaaﬂﬁmi‘?
DI . N - HQ .
mmmmmm?
Ny 2)P 3N 4R
W S o g A

2) M T THT TIHTE THRAT 3N,

3) R STfY1 P Gaweivionst swere o

4) L Jifir O o7 qo wm OE
THEA A,

. A, A W ET DS WIE AW, B %}c

W AR IREST? .
nadiet ) wE  3) A 4)aﬂa;r

Attt 2/3 W forn s, g

wEm! 1/4 faada I, gmﬂaﬁ 9
afaenfia s, v v R T
o aE e e
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"1)4s

221 36 44
ST O A 300 STAwAT freper Aen), AT
T e Bt e e o @t

| et e 10% g R T

£7)

38
L TR Y -

39,

187
33,

Ba4,

35,

36.

37.

TR 20% SET X, mmﬁmﬁsqa 4l

oty

1) 330 2) 360 ° 3)39
VS +2/4 433+ 412+ 51 =1
297 H1 45
Choose correctg meaning of underlined word:
This project is in the pipeline.

4400

1) The projcet will produce pipeline -
" 2) The project is following in the pipe
3) The project is bemg plannedand wili soon

come into existence.
4) The project is going waste.

2020#&%21&8&&&3\@%%@3 4

maﬁw@mmmﬁaﬁ
a7

) T - 2) e 3)@%4)&3{&@4&

st Wyt wemTt Ay e

1) Tyt 2) it 3) maaﬁ
fer by it 2016

1) wE 2)m 3)5@’: 4y viereh

mmma@wﬁnmwaa‘hguﬁa_

naR - dewEeit @R

. 1)aﬂi'mm

4) M 45
R g o
'azqmﬁﬂmﬂﬂaqﬁmﬁmﬁw&a |
. |
1) wE-3E 2)3#33‘13):13&@4)%113:@&

(Green Train Cor |

‘ ndor)ww@t e, uw&aﬂﬁa}

HIUTATATT 7 -

3)11ﬁmtrw%rm§ﬂ§4)gu¥qmaa

. BP Statisca}l Review of world Energy ar

'Wwﬂm@wmm@
' (Fuel Basket) '&aﬁ‘malgwmﬁﬁﬁ 311%‘?:

1)5.6% 2)6.5% 3)7.5% - 4)8%

. gﬁﬁwmmwﬁmﬁw

1)ﬂzfaz=r2);ﬂ=|ﬁss)m 4)3# |
aﬂmﬁﬂ%}ﬁﬁmwaﬂrfﬁm -

B-13

A2 - AR

A)dﬁﬂ'{ B)ﬁwmﬂ CymiEEm |

142 . 2)26 - 3)07  4) 60
ﬁﬁm AR AEDCBA ot afifireft et 2
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47.

53.
54,

55. -

-MMMW
1,2,4,3,9,516,7 . =+ .
1) 6 2) 7 NEs 49
wﬁaqdwmywnﬂmvﬁm‘z
9
3 s 4
1)12 TODI6 DI A3
e TSR
_ mmuﬁlﬁnmwmﬁﬁuﬁﬂﬁsﬁ
AT |
1) 140 ._2):50_ 130 4160
1y aiawz)m 3)%? 4y I
1):1 9T 3)*[ 499
Wmmmmmavﬁ
1)¥+s’ § yy+¥=§
- nE+¥=% ¥+7=%
wﬁmmmmmﬂlﬁ
)W : Z)W e
3) frnfagiaor 4) fagiwor -
Choose the correct spelling; ~ *
1) Consentious - ~ - - 2) Conscientous
_ " 3)Conscietions -4) Consientions
‘Choose the correct antoym:; Fallacious.
‘P Infaliacious .- 2) Unfallacious
3) True -4) Old

56.

51,

52.

Choose the correct passive voice: :
A committee makes the selection of students..

1y A selection of students is made by the ;-
~ 2) A committee is made for the selection of

- students. < .. ;
3) The selection of students is made by the

. 4) The students areselected by the committee.

- YR

58,

-559.

"~ Thepenis..
- 'l-)More-mi'ghty

: 60.

61,

. 4) None is gmtter thag
- Chooss the correct
" fo!ioirhgcompouni?énwm: e
" He finished his work and put-away his books.
- 2) To put aﬁo‘y his books, he ﬁmshed hls
3 Hawngﬁnfshed his wm‘k, he put away his|

" 4) He put away his books becsmsc he ﬁmshed!

-Supply appropriate comparitive or supetlatwei

TR VT et vt e 7
1) o :

. 3) 14 ATETEE

Select the correct asseftlve sentence ﬁ'om the
following: o :

Who is greater than God? <

1) Is there anyone greater than God ?
2)God isnot gpeaterthm anyone.

3) Anyone is gréifer then God.

PR R

me_ Mce of the |
1) Putting aws@m books he finished his

- works. \f§ :
- work,

“books,”

his work.

to each of the followmg
.. then the swoni
2) Mlglltler '
4) Most mighty
Frehierem wiorr st

3) Mighty
TSR

2) BT

peenRE - puEdEeE
T 1948 =1 waeR HWEATAR fHe
mwmmw

STTATT AT 7 ;
1) loaatensieT - 2) mmimﬂn i
) wawimo&n !
T 1918 AIFR R HOW=T
gcmwﬂ‘f“mnwznmﬁiﬁ

wmen dE ;

mmASR T 2)mm=r
3)wwﬁm|=m'mmﬂ

. 4) TN



63.

© 3) A Green World
65, dfa Aw mhmﬁaaﬁ wAR 7. W

68,

)40 ¥RT 2)4zthzr3)ssw&zn)zzr&z'r 78.

. 'Awmio&amgﬁm G B B

70.

n.

)W
- 3)WiS wEAE
67.

T Bor AT
m&ymwmmm

mr

1) 18T
3) 16 EATS00
frant stieifms 2016 & dw ama wROER ?
1) A Better World = 2) A New World
* 4) A Great World

. 2) ISWSOG

TRy
1) A SweR e

2) ST T ETRAT AT

3) WHO wrbet frem anoiry Qe 75.
. 4) FEPET INATHER '
-mmﬁrmw&uﬁﬁwwﬁ

mmﬂmm}waﬂ&? '

g
w’ﬂnwhimghﬁwﬁwmﬂm
172, 1,3, 12,
1) 15,60 - 2)24,60
T S EEAT ST T TR, W AR
s 2 ier A, m‘ﬂ&maﬁwwﬂa
stere fipeit 2 -

.......

12 frrer & C 15 Rrerma gl TR AR A,

“ B, #C ﬁqwﬁammﬂmw 9.

1) 3ﬁw 2)4&&113}5&“ 4)6&«

vy TR 150 €. Wi Rt wmht
wikorreT 275 o Eiata viitea e 1/3 wea g,

ﬁa’rmm’mﬁwﬁ“mmm?
1) 70%. 2)901? 3) 56 4) 607

aﬁ'ﬂ.w@m 12 sfizT W, W g

TeF 72,

4) 17 FAR i,

- 3) 1980-85 _
mﬁw@ru&wumm

" qefdier a7
| n)mw
Wwﬁh&mumm
.-ﬁmmﬁwmﬂmw

R EES 6.

3) 30,60 4)60360 77,
) mwwmmm
oy

C)WRA 2) TR
- W/,

1) 85
T I | W 6 feargin qul et anfir

- 3y steaw
femromarg A fesht sivrerraisiadion s 51,

ey 2) 8wy 3)10WET Y 20WRT 112

ﬂ@wmmﬂnmlm

mm%m? .
1)1978-83 N7 2)1979-84
' 4)1981-84 .

2l

gt

TSR AT 7
1)1978 - 2)1979  3)1980 4)1981

mmﬁhmw

1) 3Rt 2) um‘ém)tﬁwr 4)wi=ﬂ
mzmsmmﬁmmﬁm
T Hef Tl 2 :

3) SFIFR 4) WA

5,6, 10, 19, 35, 60, ........

2)90  3)94 . %96

T YT A W 18 Tree qui et
T WY TP U %I e, W AT A
ST qut B feed e owlier?
n4staw 24 fmw

43 shmw
FATA:B=3:4 IR :C=5:6TWAC=1
2)5:8 338 459



83,

b,-

ey i ‘ﬂ!‘NIﬂ # 60 Il‘d'!lﬁ wear92. Fillinthe spaces with correct option :
aftwar Wit 6 % W ul' ‘l\%l;ﬁmwr I prefer the...... proposition to the former.
AN 12 Ao A, g . DLater  2)Latest 3)Lste ~ 4)Latter
1)52. -2)60 3)58 - »4)43__ - 93, Inaertamcleawhmmesmy For Ram is
QT AITAT 35% MO TER R fgeRt,  honorsbleman. ;
25% vyeiten fgell s 3rvtea e s0% -I)Formuahanmblem
mmm.zooom} 2) For Ram is hononle@m

' .1)mm a e« - = 3 _ S
~ 3)%. 10,000 4}:: m,ooo 94, Wntethe cor XQrm of prononn in the fol-
mmﬂw1*% mgm lowing : Ramadnd........... were prosent.

)Me ~ 2) 3) Mine 4) Myself

i | : "95. Fill in the blaaks with suitable Relative
D13 216 IS . 41T '-_Pronom chamas.... he should be|

o1. 3

97,

1)mnmﬁwm 2)mﬁﬁr(?)

- '3)§tﬁmw 'ﬁ)mﬁw()
‘TR’ T yrre Rrweedt wey S ? 100
pawew e
- 3) STy 4) et -

i, DTo

," ' Tum du following s sentence from active voice]
s fo passive voice: People will soon forget it. )
1) People will forget it soon '

3) People will forget it immediatiey. -
" 4) It will soon be forgotten.

- 1) Dearth
- 3)Poverty
. Choose one single word for the phrase :
“A remedy which is supposed to cure all

99. Writs in indirect form :
- ‘I 2m on my way”’ she said.

~3) She told that she was on the road.

L«‘? 2)That 3)Who _QAs

2) It will soon be not forgotten

Choose the word that does tiot mean ‘paucity]
-2) Scarcity
4) Shortage

diseases’
1) Panoram " 2) Patént '
3) Panacea 4) Perfection '

1) She said that she was on her way. '
2) She told thiat she is on her way.

S ke e R - A

4) She exclaimed that she would be rmhing

. Choose the correct proposmon

He is not well ................ yes_terday.
10n  2yof ~ 3)before 4)Simce
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